4 3 i P 1

IIIIIIIII

ZONE |REV. DESCRIPTION DATE APPROVED

TVRO C & Ku BAND — |[NEW RELEASE

<. 8M  ANTENNA SYSTEM
AL—7209—-5YSTEMZ

PULARIZATION AXIS

c.8M DIA REFLECTUR 35&&%&%

[110.2357]

7 /]

55° =

BASE RING

\ X/Y PUOSTTIONER

INERT., MEASUR: AL /108—-1IMK?

UNTT
AL /7203-IMU-NT3 LOCAL COUONTRUL UNIT

AL=/108-SEBC

INITELPACH COVZACL LAV INVE

?

BKEA'" [2HEEL

1IIIrE:
DMCE'NO

vr-

CUSTOMER’S
U —|'| L| TY S E R v I:I D IQ I \/ E IQ ORIGINAL aTY UNIT ?I?I-'ZQNTTIEII-'RYING o ggggg%ﬁ% IIIIIIIIIIIIIIIIIIIIIIIIIIII (APPROVED W LEI-I:M
SUPPORT UNIT PART LIST N J
AL7100_SDU_MK8 EEEEEEEEEEEEEEEEEEEEEEEE | conTracT No \
Linchl \
B " ool X ORBIT
HOLES LOC. £+ ___ | pRAWN
PROPRIETARY DATA e+ L Harsnal27.0410 1me TVRO C & Ku 2.8M ANT SYSTEM
Information contained herein is the sole| B 7 NOT SCALE DRAWING —— | CHECK SUB. ASSEMBLY
property of ORBIT Communication ltd.
and is hot for publication, duplication REVISION CHANFER EDGES T Viadinir N, 27.04.1Q assempLy AL-7209-SYSTEMZ
and it may not be passed to any other REV STATUS FNsH /| APPROVED SIZE  |FscM NO.SO4 96| pwa. NO.
party without wr‘i‘tl‘tenl authorization 3 o 1 SHEET OF SHEETS EE?E N:?:;rl ;I;:]IJ‘I EEEEEEEEEEEEEEEEEE PROG. No. V C a-/209 D C D 3 O - O 5 1 9
from ORBIT Communica tion ltd. " | Per assy. |  eePLICATIN | || sgen DATE | SCALE 1/80| RELEASE DATE |SHEET 1 oF 3

4 ; ! - !



meir.alfasi
ORIGINAL

meir.alfasi
Approved


4 3 i 1
TVRO C &‘ Ku BAND ZONE RiV. E REI_EASEDESCRIPTIIIIN DATE APPROVED
<S.8M ANTENNA SYSTEM
AL—7209—-SYSTEMZ
INSTALLATION FOOT PRINT
)
OPTION 1 UPTIUNC
SIDE CLAMPING-12 MOUNTING SLOTS “S” SIDE CLAMPING-12 MOUNTING SLOTS “S”
PERFORMED IN THE EXTERNAL BRACKETS PERFORMED IN THE EXTERNAL BRACKETS
ARE ALLOWING SYSTEM EXTERNAL BOLTING FROM ABOVE TO IT'S @BEPSE%DggNaEimgTEg %é&%ﬁ%ﬁ%wESLTING FROM ABOVE TO IT'S
SUPPORT BY MEANS OF SCREWS 5/8” -
OR M16 AND MATCHING WASHERS UR MI6 AND MATCHIG WASHERS
CENTRAL CLAMPING THREADED HOLES /A" CENTRAL CLAMPING THREADED HOLES “B’
5/8-11UNC PERFORMED IN THE BASE RING o/8-1IUNC PERFURMED IN THE BASE RING
ARE ALLOWING INSIDE RING BOLTING FROM BELLOW ARE ALLOWING INSIDE RING BOLTING FROM BELLOW
BY MEANS OF 5/8-11UNC SCREWS AND MATCHING WASHERS BY MEANS OF 5/8-11UNC SCREWS AND MATCHING WASHERS
(SEE ALSO SHEET 3/3) (SEE ALSD SHEET 3/3)
] 417 [16.42"]
TYP. X2 9
Y 352 [13.86"]
“\\\x TYP X2
. %bgTyﬁ%” R9 [0.35"]
- 700 (27561 A | Lo'sP
= =2
%ﬁ?ﬁ R1333 [R52,48"] R1366 [R53.78"1 [
Y . ' \\\ [7
* ~ 7 N "
S e >
800 [31.5"] YZa i _:A~§§ - -
TYP Xe ‘ ‘ ="+ d =T == | — 5
f S |
NS 500 [23.62"]
466.5 [18.37"1 | Eﬂ ; ﬁ | SLOT 'S
TYP X4 S = S
. e T ),
AE B ziﬂ\\__
| A B B T &g - OPENING TO DETAIL vV
” Q%;% Vay RADOM ACCES SLOT DETAIL
429 [16.89"] N . ﬁ 7 SCALE 1/4
TYP X4 G-=d_ | AU.-Q ale
S| S
5/8-11UNC S| = -~ 675 [26.57"]
THRU 600 [2362"] | _ o |
16 PLACES TYP X4 >
—{  |=—335 [13.19"]
800 [31.5"] _ o
TYP X4
NOTE: =
__ PROPRIETARY DATA = THERE ARE TwO GROUPS, “A” AND “B” THREADED HOLES -
property of ORBIT Communication ltd. TD KEEP BDTH THE ACTUAL AND PRE\/IDUS \\\ORBIT TITLE TVRO C & Ku 28M ANT SYSTEM
and is not for publication, duplication —
ond 1 iy ot b pased o o oier CONFIGURATION OF THE HOLES LOCATION, o Zarina T C e 55496 [mew DCD30-0519
E&gmyﬂgélTo%om\:\rJnicir‘Lic?: l'tilr\lza o CHECK scale 1/ 25 | ReLEASE DaTE SHEET 2 3
4 3 T 1




IIIIIIIII

ZONE |REV. DESCRIPTION DATE APPROVED

- |NEW RELEASE

I'VRO C & Ku BAND
<. 8M ANTENNA SYSTEM
AL—7209—SYSTEMZ
SYSTEM' S OUTLINE DIMENSIONS

A\ SEE INSTALLATION “FOOT PRINT”

R1990 [R/6.39]

i
L LG
2 PL, AT 180°
RADLIME
— JPPER PART
CEIGHT PETALS)
30960 [140.1207] - 1 §§§ORBH' B B B _ B T
19/0 [61.87]
962 [3/.8/"]
; L

T

BKEA'" [2HEEL

1IIIrE:
DMCE'NO

vr-

PH) N R ¥ N N Y N "]
O O O O O
- [315”]J CENTRAL CLAMPING{ S ADOME
L L S1DE CLAMPIqul (EIGHT PETALS)
FROM ABUVE
SUPPORT SYSTEM— -
0634 [p103./7] - SASE RING
- »3980 [@106.69"] -
PROPRIETARY DATA
N N oRBIT | TVRD € b ku 2sm Nt sySTEN
i 1+ ey ot be passed <o any otner o Zarina ] C e 55496 | e o DCD30-0519 |™
E&;:yug;?o%‘zmﬁg:i‘zqic?:‘l:l:zlt"lzatlon CCCCC scale 1/2O |ReLease paTeE | SHEET 3 3

4 ; ! - !





